
Name: LösungsschlüsselMultiplizieren mit Anordnungen

Mathe www.CommonCoreSheets.de
1-6 83 67 50 33 17 0

Antworten

1. 5.056

2. 2.992

3. 4.818

4. 6.764

5. 663

6. 442

Benutze die vorgegebene Anordnung um jede Aufgabe zu lösen.

1) 64•79 =

60

70

4

(60 × 70)
4.200

(4 × 70)
280

(4 × 9)
36

9

(60 × 9)
540

2) 68•44 =

60

40

8

(60 × 40)
2.400

(8 × 40)
320

(8 × 4)
32

4

(60 × 4)
240

3) 66•73 =

60

70

6

(60 × 70)
4.200

(6 × 70)
420

(6 × 3)
18

3

(60 × 3)
180

4) 76•89 =

70

80

6

(70 × 80)
5.600

(6 × 80)
480

(6 × 9)
54

9

(70 × 9)
630

5) 39•17 =

30

10

9

(30 × 10)
300

(9 × 10)
90

(9 × 7)
63

7

(30 × 7)
210

6) 34•13 =

30

10

4

(30 × 10)
300

(4 × 10)
40

(4 × 3)
12

3

(30 × 3)
90
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